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	QUESTION
	SC

	Which of the following is correct 

· a class can implement more than one interface

· a class can implement a single interface only

· a class has to implement an interface if the class is declared abstract

· a class can implement interfaces only if it is declared abstract
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	Which of the following is correct 
· a class can implement more than one abstract class

· a class can extend more than one abstract class

· a class can extend only a single class, no matter if abstract or not 

· a class can extend more than one concrete class

· a class can extend one concrete class plus one abstract class
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	What does overriding mean ?

· To me ? nothing.

· Defining an identical method (name, i/o-parameters) in a (super-)class  that is performed instead of the original method in a subclass, derived from the superclass

· Defining an identical method (name, i/o-parameters) in an inherited class that is performed instead of the original method in the superclass

· Defining multiple methods in one class with the same name but different input parameters
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	Suppose public void explore() being a method in a class A, overridden in a derived class AE (AE extends A). What’s correct?

· A.explore MUST have an empty body (= { } )

· A.explore MUST have a non empty implementation in A

· A.explore can never be overridden

· A.explore can always be overridden
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	I want a method necessarily being overridden.

The modifier needed:

Final

Abstract

Private

Static
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	Downcasting means to cast an object to a class down in the hierarchy, i.e. to a class having more methods or fields. Upcasting is the opposite. Which of the following is true ?
•
Upcasting is always possible

•
Downcasting is always possible

•
Upcasting is possible but never makes sense, because you lose information

•
Downcasting is possible but never makes sense, because you lose information
	


